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QUESTION 1

Which of the following scenarios describes SSL offloading?

A. Requests which arrive in plain text via HHTP are redirected to HTTPS URLSs to enforce encryption.

B. To use HTTPS for multiple hosts in the same domain, a wildcard certificate is use don all nodes hosting the services.
C. Requests which arrive encrypted via HTTPS are answered with redirects to HTTP URLs to improve performance.

D. Incoming HTTPS connections are received by a load balancer which handles the encryption and passes decrypted
requests on backend servers.

E. The main content of a website is delivered using HTTPS, assets such as images or scripts are delivered using
HTTP.

Correct Answer: D

QUESTION 2

Which of the log messages below matches the following Logstash grok filter?

grok {

match => ["'message”, "%{SYSLOGBASE} new node %{IPORHOST:node}" ]

}

A. Jun 30 00:36:49 headnode: new node 198.51.100.103 at clustermanager:12353
B. Jun 30 00:36:49 headnode clustermanager[12353]: new node 198.51.100.103

C. Jun 30 00:36:49 headnode clustermanager[198.51.100.103]: new node

D. %{SYSLOG-FROM:headnode clustermanager[12353]} new node 198.51.100.103
E. clustermanager[12353]: Jun 30 00:36:49 headnode new node 198.51.100.103

Correct Answer: B

QUESTION 3

Which of the following values could be used in the option config.vm.provision within a Vagrant configuration file?
(Choose THREE correct answers)

A. :rsync, remote: "root@localhost:/"

B. :extract, file: "root-fs.tgz"
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C. :shell, path: "install.sh"
D. :clone, template: "master-vm"
E. :boot, iso: "debian-8.iso"

Correct Answer: BCD

QUESTION 4

Which criteria can packet filtering firewalls use to permit or suppress traffic? (Choose TWO correct answers)
A. IP addresses

B. TCP and UDP ports

C. HTTP Cookies

D. Common Names in X.509 certificates.

E. Object IDs in REST URLs

Correct Answer:. AB

QUESTION 5

The following output is generated by git branch:

development mater production staging

How can all changes from the development branch be integrated into the staging branch?
A. git stash development

B. git merge development

C. git branch --merge development

D. git merge delopment..staging

E. git cp --merge development

Correct Answer: B
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